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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The half fife of a certain isotope is : d/nd{'ﬁd/‘,jﬁﬂf Lofz_(L/)/uw -Lau;bgdlﬂdw;,;/lﬂu’/;vg 1-1
one day. What is the quantity of the isotope after two days :

One —sixteenth Y (D) One—eighth Y (C) One-quarter (1321 (B) One-half {2 Lx(f5T (A)
The brain of any computer system is : i Eis ¥ (L/ /ﬂg{.‘/ N OX 2

Control unit &{’J;}{ (D) cPuU gQJ (C)  Memory $»< (B) Monitor £+ (A)
The particles emitted from a hot cathode surface are called ; u‘A_JJ»»’/ u;’Z/Aac;i/JM""/’/’})ﬁ/Ld’ 3
Electrons ‘/’3}? I (D) Protons /3’5/ (C) Negative ions * lﬁﬁ Positive ions /‘ iz‘./g” (A)

If the current in a U’/}’u@cdbi_/gf;/b)’é_bLb/[fwd/h/’/’z.bdz_u"?bgﬁu{f»fuﬁﬂgﬁﬁ 4

wire which is placed perpendicular to a magnetic field increases, the force on the wire :

Will be zero d///‘ (D) Remains the same d/fu’U'k (C) Decreases d/y'yf(B) Increases J&/ (A)
What is the power rating of a : MQ/.,{&/Z.SA c.,uﬁu’L,e cJﬁgC/&;gJ%ugégiﬁau&/LQV 5

famp connected to a 12V source when it carries 2.5ACurrent :

iy 4.8 W (D) 21 14.5W (C) Ly 30W (B) L 60W (A)
Capacitance is defined as : T (3ta J Z,/ J! b.gj/.f J Jfﬁf 6
7 o 9 () Qv () Ve (A)
The index of refraction depends on : fe 73 Z J /Vf'i K U:{/J 7 Jgﬁs! 7
The image distance /J»«"b’ﬁ & (B) The object distance 4.1#91{2' (A)
The speed of light /4% Ju"y (D) The focal length {EQJ 2 (C)
How does sound travel from its source to your ear : fe L}if 4/ wl? .;T & (2 Lty sy 50-|8
By vibration in wire or string a,u’l::-/:’bp(du;‘gxt’ (B) By change in air pressure c;.y}JUEA?Uﬁ?L;L'n (A)
By infrared waves ;'J},gd/)gjéﬂ/”.’ (D) By electromagnetic waves &)4«,5/){’1.,@%}? I (C)

When water waves enters the region of shallow water ; a’%‘;g,(uf?q; dﬁﬂ)disz‘}d'jy /1;’3(,( d.L_J 9

their wave length :
Decreases ﬁ:..d(a!z,f (D) Increases ‘Ldlga‘/. (C) Become zero ‘Ldiﬂz/’ (B) Remain same ‘g(}'@d‘a (A)

Intensity of sound of lawn mower : D il d/ x5 d/ u.‘.’" Gy 2% u’tj 10
10 wm™= (D) 107 wm™ (C) 1072 wm™ (B) 10" wm™ (A)

Half life of Cobalt g;) Co is: fe I - d/ Co 2 |11
Jb- 40 years (D) JU 30 years (C)  Jv 12.3 years (B) Ju 2.85years (A)

Power of hair dryer is : : fe sl J A5 g2
<y 1000 watts (D) &1 800 watts (C) &1y 1200 watts (B) s 1500 watts (A)
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10 2. Write short answers to any Five (5) questions : : g@@'ﬁ/‘?ﬁauw (5) é& e Jf <2
(i) What are two components of CRO? e L‘)!( & 35 L CRO (i)
(i) Draw a labelled diagram of Ball and Bowi System. v e«,fy; J"‘! d/ ("/ Jﬁ 92 JL (i)
(iii) State the laws of refraction of light. -g.f Jk uf.l,;" vl u:’g/J J (ﬁ/ (iii)
(iv) What is restoring force? Give an example. oy Je fe y’ u'u’ sy (iv)
(v) Define electromagnetic waves, with an example. ,é L JC"A .g/;" J Jg;.@%}?! (v)
(vi) What is electron gun? . ‘e y/ . u;}g! (vi)
(vii) Differentiate between convex and concave mirrors. -é Zj s [}/ S Ly zﬁ( 2! ‘f;?r'/ (vii)
(viil) What is meant by critical angle? Draw its diagram. il f fe iy kf e S S2S (viii)
10 3. Write short answers to any Five (5) questions : : é@&&/‘.’ﬁaﬂlr (5) ég = Jf -3
(i) Define loudness of sound. _é _.g!/? d/ 23l ST Luepndsy (i)

(i) Whatis meant by intensity level of sound? ~ _2¥ < SLE U ?c:ygadﬁéubgiﬁﬁﬁfv (i)
What is its S! unit? ¢ .
ek w2 5 G

(iii) Define capacitor and write its formula.

(iv) Draw the label diagram of electroscope. -k f'/’lb‘ J’f" J ..,,:C)}é I (iv)
(V) Which instrument is used to dbserve sound waves? fe tw JE1 T G 21:.’/ éj s s &3 (v)
(Vi) What is meant by primary memaéry? fe ol E:'/ = Ut Lf/’{ (vi)
(Vi) What is ATM? Also write its any orie advantage. T L &f g ?‘atf ATM  (vii)
(viii) What is Electronic Mail (E-Mail)? Also writé its one benefit. 2, 2476 _.Q L;/ g1 fe er Jid’ (viii)
10 4. Write short answers to any Five (5) questions : - é..;gbz/”:ﬁi.-.uw (5) é& & Jf -4
() What is mutual induction? fe &W Y U:G'/’ drse (D)

(ii) Describe Fleming's left hand rule to find the _éuyéf_fz,/(}’”MJw:’Jf’Ki;u: QKJQ" (it)

direction of force. ..
(iii) Differentiate between direct current and alternating current. & SIS it .f»f.f/” wf..:"f’/.*zg/’u‘ (iii)

(iv) Differentiate between natural and artificial radioactivity. g J}J&Aﬁt‘&i‘?)kﬁ/@t’&ﬁ (iv)
(V) Whatis cosmic radiations? Give examples. S SESQ Y e FRISh SalS (v)

. wt 7 Te, (2t )
(vi) How potential difference can be measured? ?§. d(o d/ d__/ oF [ J gﬂ/}J”f{j (vi)
(Vi) How may watt hours in 1000 joules? S Lx inT el _z S 2% 1000 (vii)
(vii{) What is ionization? What is its power? e Ux tf sl d/ J e U y/ ST (viii)

' ( PART-II (9 & )
Note : Attempt any TWO questions. & iR Loty »e G:( Py

5. (a) What is prism?-&= 2 AL P50 TS e i Ubestond 21l Gontpsg ‘e trifpsy (LH1) 5

1,2,1 Explain with diagram the path of light through the prism. Also define angle of deviation.
5 red g LUkl o 498 Lakhi ool Live 0.99m3US A 2 gl (L)

(b) A pendulum of length 0.99m is taken to the moon by an astronaut. The period of the pendulum
is 4.9S. What is the value of 'g' on the surface of the moon?

4 6. (a) Explain the electrostatic by example _éyu,Jfé %}g’c_ud/hﬁ_{;;/,u‘fg u@sfgf () -6

of electrostatic powder spray painting.

5 (b) If at Anarkali Bazaar Lahore intensity?d/ngﬁgfﬁlxj i 80 dB Jﬁﬁﬁ‘fbﬁzuggt!ﬁ (<)
level of sound is 80 dB, what will be the intensity of sound there?

4 7. (a) Whatis meant by Half Life? Explain with the -é&D:J“JJ':.:AJJ'/Y%:'/Q(;J/UJQ (W) .7
help of graph.

5 b IR B L 2 20V SIS AN e 11100 e f it pi i bl (L)

(b) A step-up transformer has a tumn ratio 1:100. An alternating supply of _._épk” (Vs) Enssoxe

20V is connected across the primary coil. What is the secondary voltage?
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The loudness of a sound is most closely related to its : te by JK i ol K u’£5§U J 5001 -1
Amplitude 5;:’&/"’ (D) Wavelength i%’; (C) Period 5 (B)  Frequency U’"Z/ (A)
Capacitance is defined as : T J(p d/ Z,/ J! ..g/7 J Jf\;muf 2
ViQ (D) Qv (C) Q/V (B) VC (A)

ke - . Py % - - o4 #
What happens to the intensity or ~ : ‘gt"/__‘U/ggaﬁd/U’uJu’Lz_./J usa;wJuﬁégjza.g}z; 3
the brightness of the lamps connected in series as more and more lamps are added :

Decreases g.émf/ (B) Increases e trilsl (A)
Cannot be predicted ‘adﬁ'tt': (D) Remains the same L“Zui’f}/&f (C)
Speed of light in water is : i (_}n A J [55;/ 5 d& 4
2.0x10° ms ™' (D) 2.5x10°ms TV (@), 3.0x10%ms™! (B)  2.3x10%ms ! (A)
When did Graham Bell make a simple telephone : D e ._f ui& sl Jiﬁlf 5
1867 (D) 1870 (C) 1886 (B) 1876 (A)
Image formed by a camera is : - gn 2 ¢ & (3" Zy{‘ 7k o/‘{ 6

Virtual, upright and diminished (el f2.s (B) Real, inverted and diminished S «Fo (A)
Real, inverted and magnified d‘/.o/./:!éjlq}/’v (D) Virtual, upright and magnified d*/.c‘a;"d}‘(f}f‘gf;;/) (C)

Which of the following is not processing : e u':"’ _f::"}{ Jf L L’)!( 7
Gathering e (D) Calculating L‘/':...fff_/w (C) Manipulating FEIL: (B) Arranging &2o"7 (A)
The number of neutrons in a Uranium 293§U :c‘:.)fﬁgﬁ/i:f;fuf.,j}’/fdf i 293§U .:./;r’/!’.ggﬁ%/;’ 8
isotope are : ’ ’
330 (D) 238 (C) 146 (B) 92 (A)

The process by which electrons are emitted by a hot metal e t‘Uv;Cu;ny/G'/':}g ’C—i;‘/v(d&kf: T P9
surface is known as :

Thermionic emission u%‘:’..fxf/? (D) Conduction uy/jf(C) Evaporation U?uzg}’ (B) Boiling .ﬁ/’:f (A)
When a heavy nucleus splits into two lighter nuclei, the : cfjiigt,ﬂﬁﬂgﬁd‘lfxli,){:)u’&d/%ugg 10
process would be :

Absorb nuclear energy Jﬂuﬂ‘j/‘/i:gx (B)  Release nuclear energy d/x@/(}(ﬂ}'f{i (A)

Absorb chemical energy Jﬂy@(ﬁj’ﬂ (D)  Release chemical energy J}’Z@/G&)'ﬁ (C)

A device which convert mechanical energy into electrical = t’M ‘< t/diuﬁ&)kﬁ}gf/&ﬂmﬁJTH’ 11

energy is called :

Electroscope ..;:C:}..al (D) Transformer /17 (C) D.C. motor 455 (B) A.C. generator 2% (A)
Which part of D.C motor reverses QQ;/LJ:E/MJ&/quia,u.‘.'JL&ﬂZ:fL/&) (o Uf(/"/ddi 12
the direction of current through the coil every half cycle :

Slip rings /g,,w (D) Brushes =~ (C) Commutator }f},j (B) Armature Z‘JT (A)
211-023-ll-(Objective Type)-25000 (7472)
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10 2. Write short answers to any Five (5) questions : : é@ljz/‘""’.ﬁaﬂlr (5) é& & Jf -2
(i) Write the two important features of simple harmonic motion. -& ;I‘L.ar“;ﬂb}déf&ff.:fw‘kdff Q)
(i) What is meant by damped oscillations? S oly y/ = JE 455 (i)

& e e o EF i)
2l 3 1§ i, (iv)

(iii) Whatis restoring force? Give an example.
(iv) Show the types of reflection with diagram.

(v) Define Snell's law. Write its formula. &y ¥ JI ! g‘f ug{/.; J uie L J{ (v)
(vi) What is meant by digitization? e sl = cﬁ'/’lé?-;" (vi)
(vii) Write the symbol and truth table for NOT gate. ~£6 J:‘ £/ ‘ui el J J b (vid)
(viii) Explain the deflection of electrons by electric field. ..é?j./iil?.f/‘?ly U:J sy 1a5 d/ ?)}g I (viii)
10 3. Write short answers to any Five (5) questions : : é:«&b?/‘?ﬁamr (5) é& = Jf -3
(i) Define quality of sound. _é .._g,J/.I u'/ ki ST C“’f (i)

(i) Calculate the sound intensity level of rustling of leaves. _gr,h" U L}ﬁg\ﬁfb(&ﬂ//‘! Uz (i)
(iii) Define electric field intensity. -Z.:( i S Ayl J}gl (i)
(iv) In what direction will a positively charged ?(4_/.*/(/1}:0:{//’5%/3»}@/&&){ uﬁ,t?_f}g I (iv)

particle move in an electircfield?

(v) Draw the electric filed lines for two oppositely and z,ui?../}?@{mg&gd,w»_ﬂt‘m (v)

equal point charges. v (. i, " .

(vi) Write name of the components of cumplter based -éfte‘: u”‘f}.:l/éfi/ ! J.ct/:;g.f (vi)
information system. . Gy o B gl .

(vii) Why optical fibre is more useful tool for the ?%UJ.’-C:’/J'/“ ?Lqﬁﬁﬂ luf(/u{g}:.[ (vii)
communication process? - .

(viii) What is the difference between compact disk'and flopy disk? YQU/g@fJféuwl.Cm‘Q/ (viii)

10 4. Write short answers to any Five (5) questions: : dayw"’[.:.mf (5) ég & J:( -4
(i) Define natural radioactivity. _é - J &éf i, JZ& ()

(ii) Write working principle of electric motor. L& Jrt ¥ ) "l( L i J/bg’ (i)
(iii) What is difference between ohmic and non-ohmic materials? ?ct:_u"/.y/ufﬁ/"fu@)’ubﬂ._@)l (iii)
e S U1 g Gl wIE U2 (V)

(iv) State Joule's law. Write its equation.

(V) What is Cosmic radiations? Give examples. ey uﬂ‘?’ Se sl Vo '/'?ld,é/_(au\f (v)
(vi) Can a transformer operate on D.C? . (s (K £ (D.C) ¥ 3 pui Y (vi)
(vii) Whatis Lenz's law? ..gf:( Uk gI6 ¢ /..} (vii)
(viii) Write two isotopes of hydrogen. -Eﬁu/ J'.-;//T » L J”yﬁfg (viii)

( PART-II (0 )
Note : Attempt any TWO questions. 5 ’é =2 L elyne JJ( O
4 5. (a) Explain the two types of mechanical waves -g{;».J,ﬁ/WyL‘ner»&g,m (&) -5
with diagram.

5 ?Jny’i@f;’&/ _4‘;&; 5¢cm éLJ/@"IJﬁLn@‘{_{ 10cm &L J/J-fif (o)
{b) An object 10 cm in front of convex mirror forms an image 5 cm behind the mirror.
What is the focal length of the mirror?

4 6. (a) Whatis flow of information? Explain -g,fyu,&; lzf,,u'if ?g)ygcfbfﬁu%&?’ () -6
it with diagram. . .
5 - Pt Iund £04826L 0.4m Zbes o 0.8N wi&r@yﬂémgﬁjgéb@; (<)

(b) The force of repulsion between two identical positive charges is 0.8N, when the charges
are 0.1m apart. Find the value of each charge. _ . . _
1,1,2 ~Zei /L DS e bk s L S () LT
7. (a) Define an electromagnet. Make the relay switch circuit diagram and discuss the
electr/omagnet role in this case.

5 St Lo IS 60-LN 0126 - U 525 1S 60-2 L 1 hs (L)

(b) Cobalt-60 is a radioactive element with half life of 5.25 years. What fraction of the original
sample will be left after 26 years?
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